
Medical English 

 
Part 4 

You will the story of what happened to the 20th president of the USA. For 

questions 24 – 30, choose the best answer (A, B or C)​. 

24. Why was Garfield at the railway station? 
A. He was about to go to the White House. 
B. He was going on holiday 
C. He was giving a speech 

 
25.  What the initial medical assessment of President Garfield. 

A. He was likely to die within hours. 
B. His injuries were not critical 
C. They were optimistic about his survival chances. 

 
26. Which technological advance was not used with President Garfield? 

A. Air conditioning. 
B. Metal detection. 
C. Sterilisation. 

 
27.  Where did Garfield die? 

A. In the White House 
B. In hospital. 
C. On the Jersey Shore 

 
28. Whose ideas did the American medical establishment reject. 

A. Guiteau 
B. Lister 
C. Bell 

 
29. What was the problem with the metal detector. 

A. They used it the wrong way up. 
B. It squeezed the bullet. 
C. It was not used in the right place. 

 
30.  Why did the doctors make Garfield’s condition worse. 

A. They misdiagnosed his condition. 
B. They could not agree on treatment. 
C. They did not establish a sterilised operating environment 

 
 
 
 
 

https://esolepacks.com/medical-english

